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izR;sd fo|kFkhZ dk jftLVªs'ku ua- ds vuqlkj LFkku fu;r gS rFkk os vius fu;r LFkku ij gh cSBsaA ;fn dksbZ fo|kFkhZ
fdlh nwljs fo|kFkhZ ds LFkku ij cSBk ik;k x;k rks nksuksa fo|kfFkZ;ksa dks ijh{kk d{k ls ckgj dj fn;k tk,xk vkSj
nksuksa dks dksbZ vU; tqekZuk Hkh Lohdk;Z gksxkA

ijh{kk dh vof/k gS rFkk iz'u i= esa gSaA gSaA

fo|kFkhZ ijh{kk d{k esa yksx Vscy]dsYdwysVj ;k fdlh vU;lkexzh dk mi;ksx ugha dj ldrk gSA

ijh{kk ds le; fo|kFkhZ dks ifjoh{kd }kjk fn;s x;s funsZ'kksa dh ikyuk djuk vko';d gSA

iz'u i= gydjus ls igys fo|kFkhZ vk'oLr gks tk, fd blesa lHkh ist layXu gSa vFkok ughaA

izR;sd lgh mÙkj ds vad gSaA

ijh{kkFkhZ dks gy fd;s x;s iz'u dk mÙkj mÙkj iqfLrdk esa lgh LFkku ij
ds }kjk mfpr xksys dks xgjk djds nsuk gSA
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1. The transition from the state n = 3 to n = 1 in a

hydrogen like atom results in ultraviolet radiation.

Infrared radiation will be obtained in the transition

from :

(1) 4  2 (2) 4 3

(3) 2  1 (4) 3  2

2. The half life of a radioactive nucleus is 50 days.

The time interval (t2 – t1) between the time t2 when

2

3
 of it has decayed and the time t1 when 

1

3
 of

it had decayed is :-

(1) 60 days (2) 15 days

(3) 30 days (4) 50 days

3 A conveyor belt is moving at a constant speed of

2 m/s. A box is gently dropped on it. The

coefficient of friction between them is µ = 0.5. The

distance that the box will move relative to belt

before coming to rest on it, taking

g = 10 ms–2 is :-

(1) 0.4 m (2) 1.2 m

(3) 0.6 m (4) Zero

4. Two identical piano wires, kept under the same

tension T have a fundamental frequency of

600 Hz. The fractional increase in the tension

of one of the wires which will lead to

occurrence of 6 beats/s when both the wires

oscillate together would be :-

(1) 0.01 (2) 0.02 (3) 0.03 (4) 0.04

5. A converging beam of rays is incident on a

diverging lens. Having passed through the lens

the rays intersect at a point 15 cm from the lens

on the opposite side. If the lens is removed the

point where the rays meet will move 5 cm

closer to the lens. The focal length of the lens

is :-

(1) 5 cm (2) –10 cm

(3) 20 cm (4) –30 cm

1.  n = 3 
n = 1 


(1) 4  2  (2) 4 3 
(3) 2  1  (4) 3  2 

2. 50 


2

3
 t2 

1

3
 

    t1 

(t2 – t1)  :-

(1) 60  (2) 15 

(3) 30  (4) 50 

3 2 m/s ()



 µ = 0.5 



g 10 ms–2,  :-

(1) 0.4 m (2) 1.2 m

(3) 0.6 m (4) 

4. 

T 600 Hz. 

6  

   :-

(1) 0.01 (2) 0.02

(3) 0.03 (4) 0.04

5.  



15 cm 

()   

5 cm 

()   :-
(1) 5 cm (2) –10 cm

(3) 20 cm (4) –30 cm

     
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6. From a circular disc of radius R and mass 9M, a

small disc of mass M and radius 
R
3

 is removed

concentrically. The moment of inertia of the

remaining disc about an axis perpendicular to the

plane of the disc and passing through its centre

is:-

(1) MR2 (2) 4MR2

(3) 24
MR

9
(4) 240

MR
9

7. The additional kinetic energy to be provided

to a satellite of mass m revolving around a

planet of mass M, to transfer it from a circular

orbit of radius R1 to another of radius R2(R2 >

R1) is :-

(1) 
1 2

1 1
GmM

R R

 
  

(2) 
1 2

1 1
2GmM

R R

 
  

(3) 
1 2

1 1 1
GmM

2 R R

 
  

(4) 
2 2
1 2

1 1
GmM

R R

 
 

  

8. A student measures the distance traversed in

free fall of a body, initially at rest in a given

time. He uses this data to estimate g, the

acceleration due to gravity. If the maximum

percentage errors in measurement of the

distance and the time are e1 and e2 respectively,

the percentage error in the estimation of g is :-

(1) e1 + 2e2 (2) e1 + e2

(3) e1 – 2e2 (4) e2 – e1

9. A condenser of capacity C is charged to a

potential difference of V1. The planes of the

condenser are then connected to an ideal

indictor of inductance L. The current through

the indictors when the potential difference

across the condenser reduces to V2 is :-

(1) 
2 2

1 2C(V V )
L

(2) 
2 2

1 2C(V V )
L

(3) 
 
  

1/22 2
1 2C(V V )
L

(4) 
 
  

1/22
1 2C(V V )
L

6. R 9M 
R
3

 

M 




:-

(1) MR2 (2) 4MR2

 (3) 24
MR

9
(4) 240

MR
9

7. m M 
R1 

R2 (R2 > R1), 

:-

(1) 
1 2

1 1
GmM

R R

 
  

(2) 
1 2

1 1
2GmM

R R

 
  

(3) 
1 2

1 1 1
GmM

2 R R

 
  

(4) 
2 2
1 2

1 1
GmM

R R

 
 

  

8. 


'g' 



e1  e2 g 

 :-
(1) e1 + 2e2 (2) e1 + e2

(3) e1 – 2e2 (4) e2 – e1

9. C V1 
L 


V2 

 :-

(1) 
2 2

1 2C(V V )
L

(2) 
2 2

1 2C(V V )
L

(3) 
 
  

1/22 2
1 2C(V V )
L

(4) 

1 / 22
1 2C(V V )

L

 
  

  Key Filling     
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10. For transistor action

(a) Base, emitter and collector regions should

have similar size and doping concentrations

(b) The base region must be very thin and

lightly doped

(c) The emitter-base junction is forward biased

and base-collector junction is reverse biased

(d) Both the emitter-base junction as well as the

base collector junction are forward biased.

Which one of the following pairs of statements

is correct :-

(1) (a) , (b) (2) (b), (c)

(3) (c) , (d) (4) (d) , (a)

11. The following figure shows a logic gate circuit

with two inputs A and B and the output Y. The

voltage waveforms of A, B, and Y are as given:-

A
0

B

1

1
0

1
0

t1 t2 t3 t4 t5 t6

Logic gate
circuit 

Y

A
B Y

The logic gate is :-

(1) OR gate (2) AND gate

(3) NAND gate (4) NOR gate

12. (a) Centre of gravity (C.G.) of a body is the point

at which the weight of the body acts.

(b) Centre of mass coincides with the centre of

gravity if the earth is assumed to have

infinitely large radius

(c) To evaluate the gravitational field intensity

due to any body at an external point, the

entire mass of the body can be considered

to be concentrated at its C.G.

(d) The radius of gyration of any body rotating

about an axis is the length of the

perpendicular dropped from the C.G. of the

body to the exis

Which one of the following pairs of statements

is correct :-

(1) (a) and (b) (2) (b) and (c)

(3) (c) and (d) (4) (d) and (a)

10.  

(a) 



(b) 

(c) 



(d) 



  :-
(1) (a) , (b) (2) (b), (c)

(3) (c) , (d) (4) (d) , (a)

11.   A
B Y A, B Y 
   :-

A
0

B

1

1
0

1
0

t1 t2 t3 t4 t5 t6

Logic gate
circuit 

Y

A
B Y

 :-

(1) OR  (2) AND 

(3) NAND  (4) NOR 
12. (a) (C.G.) 



(b) 



(c) 







(d) 





 :-

(1) (a)  (b) (2) (b)  (c)

(3) (c)  (d) (4) (d)  (a)
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13. An engine pumps water through a hose pipe.

Water passes through the pipe and leaves it with
a velocity of 2 m/s. The mass per unit length of

water in the pipe is 100 kg/m. What is the power
of the engine ?

(1) 800 W (2) 400 W
(3) 200 W (4) 100 W

14. A cylindrical metallic rod in thermal contact with
two reservoirs of heat at its two ends conducts an

amount of heat Q in time t. The metallic rod is
melted and the material is formed into a rod of half

the radius of the original rod. What is the amount
of heat conducted by the new rod, when placed in

thermal contact with the two reservoirs in time t:-

(1) 
Q

2
(2) 

Q

4
(3) 

Q

16
(4) 2Q

15. A lens having focal length f and aperture of
diameter d forms an image of intensity I.

Aperture of diameter 
d
2

 in central region of lens

is covered by a black paper. Focal length of lens
and intensity of image now will be

respectively:-

(1) 
f I

and
2 2

(2) 
I

f and
4

(3) 
3f I

and
4 2

(4) f and 
3I
4

16. Curie temperature is the temperature above

which:-

(1) Paramagnetic material becomes ferromagnetic

material.

(2) Ferromagnetic material becomes diamgnetic

mateiral

(3) Ferromagnetic material becomes paramagnetic

material

(4) Paramagnetic material becomes diamagnetic

material

17. A galvanometer of resistance 50 is connected

to a battery of 3V along with a resistance of 2950

in series. A full scale deflection of 30 divisions

is obtained in the galvanometer. In order to reduce

this deflection to 20 division, the resistance in

series should be :-

(1) 6050 (2) 4450

(3) 5050 (4) 5550

13. 
2 m/s 

100 kg/m.   ?

(1) 800 W (2) 400 W

(3) 200 W (4) 100 W

14. 
t Q 




t :-

(1) 
Q
2

(2) 
Q
4

(3) 
Q
16

(4) 2Q

15. f d 

I 
d
2



:-

(1) f I
2 2

(2) 
I

f
4

(3) 
3f I
4 2

(4) f  
3I
4

16. 

(1) 

(2) 

(3) 

(4) 

17. 503V 

2950

30 

 20 

  

(1) 6050 (2) 4450

(3) 5050 (4) 5550
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18. A mass of 2.0 kg is put on a flat pan attached to

a vertical spring fixed on the ground as shown in

the figure. The mass of the spring and the pan is

negligible. When pressed slightly and released the

mass executes a simple harmonic motion. The

spring constant is 200N/m. What should be the

minimum amplitude of the motion so that the mass

gets detached from the pan

(Take g = 10 m/s2)

(1) 4.0 cm

(2) 8.0 cm                              

(3) 10.0 cm

(4) Any value less than 12.0 cm

19. Assuming the sun to have a spherical outer

surface of radius r, radiating like a black body

at temperature t°C, the power received by a unit

surface, (normal to the incident rays) at distance

R from the centre of tha Sun is :-

(1) r2 (t+273)4/R2 (2) 4r2 t4/R2

(3) r2 (t+273)4/4R2 (4) 162r2  t4/R2

Where  is the Stefan's constant.

20. A particle executes simple harmonic oscillation
with an amplitude a. The period of oscillation

is T. The minimum time taken by the particle
to travel half of the amplitude from the

equilibrium position is :-
(1) T/2 (2) T/4 (3) T/8 (4) T/12

21. A hollow cylinder has a charge q coulomb

within it. If  is the electric flux in units of

voltmeter associated with the curved surface B,

the flux linked with the plane surface A in units

of voltmeter will be :-

(1) 
q
0

–  (2) 
1
2

 
q



F
HG

I
KJ0



(3) 
q

2 0
(4) 



3
22. The primary and secondary coils of a

transformer have 50 and 1500 turns
respectively. If the magnetic flux  linked with
the primary coil is given by  = 0 + 4t, where
 is in webers, t is time in seconds and 0 is a
constant, the output voltage across the
secondary coil is :
(1) 30 volts (2) 90 volts
(3) 120 volts (4) 220 volts

18. 

2.0 kg 

200N/m




( g = 10 m/s2)

(1) 4.0 cm              

(2) 8.0 cm

(3) 10.0 cm

(4) 12.0 cm 
19. r 

t°C 

R 


(1) r2 (t+273)4/R2 (2) 4r2 t4/R2

(3) r2 (t+273)4/4R2 (4) 162r2  t4/R2

 
20. a 

T 

  

(1) T/2 (2) T/4 (3) T/8 (4) T/12

21. q 
 B 
 A 


(1) 
q
0

–  (2) 
1
2

 
q



F
HG

I
KJ0



(3) 
q

2 0
(4) 



3

22. 

50  1500 

 = 0 + 4t 

 t 0 
  
(1) 30  (2) 90 
(3) 120  (4) 220 
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23. In the circuit shown,            

if a conducting wire is

connected between points A

and B, the current in this

wire will :-

(1) Flow from A to B

(2) Flow in the direction which will be decided

by the value of V

(3) Be zero

(4) Flow from B to A

24. The velocity v  of a particle at time t is given

by v = at + 
b

t c
, where a, b and c are constants.

The dimensions of a, b and c are respectively:-

(1) LT–2, L and T (2) L2, T and LT2

(3) LT2, LT and L (4) L, LT and T2

25. The Earth is assumed to be a sphere of radius

R. A platform is arranged at a height R from

the surface of the Earth. The escape velocity

of a body from this platform is fv, where v is

its escape velocity from the surface of the Earth.

the value of f is :-

(1) 2 (2) 
1

2
(3) 

1
3

(4) 
1
2

26. Power dissipated across the 8 resistor in the

circuit shown here is 2 watt. The power

dissipated in watt units across the 3 resistor

is :-

(1) 2.0 (2) 1.0 (3) 0.5 (4) 3.0

27. The work functions for metals A, B and C are

respectively 1.92 eV, 2.0 eV and 5eV.

According to Einstein's equation, the metals

which will emit photo electrons for a radiation

of wavelength 4100Å is/are :-

(1) None

(2) A only

(3) A and B only

(4) All the three metals

23.  ,      


A B 

:-
(1) A  B 
(2)  V 
(3) 
(4) B  A 

24. t  v v = at + 
b

t c
 a, b  c a, b 
c 

(1) LT–2, L  T (2) L2, T  LT2

(3) LT2, LT  L (4) L, LT  T2

25.  R 

R 

fv 

v f  :-

(1) 2 (2) 
1

2
(3) 

1
3

(4) 
1
2

26. 8 

2 3 

:-

(1) 2.0 (2) 1.0

(3) 0.5 (4) 3.0

27. A, B  C 1.92 eV,

2.0 eV  5eV 
4100Å 
:-

(1) 

(2) A 

(3) A  B 
(4)  
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28. Two charges q1 and q2 are placed 30cm apart, as

shown in the figure. A third charge q3 is moved

along the arc of a circle of radius 40cm from C

to D. The change in the potential energy of the

system is 
q3

04  k, where k is :-

q1

q2

q3

40cm

30cm DA B

C

(1) 8q2 (2) 6q2 (3) 8q1 (4) 6q1

29. An electron moves in a circular orbit with a

uniform speed v. It produces a magnetic field

B at the centre of the circle. The radius of the

circle is proportional to :-

(1) 
v
B

(2) 
v
B

(3) 
B
v

(4) 
B
v

30. Fission of nuclei is possible because the

binding energy per nucleon in them –

(1) Decreases with mass number at low mass

numbers

(2) Increases with mass number at low mass

numbers

(3) Decreases with mass number at high mass

numbers

(4) Increases with mass number at high mass

numbers

31. A network of four capacitors of capacity equal

to C1=C, C2=2C, C3=3C and C4=4C are

conducted to a battery as shown in the figure. The

ratio of the charges on C2 and C4 is –

(1) 
7
4

(2) 
22
3

C2

C1

C4

C3

V

(3) 
3
22

(4) 
4
7

28. q1  q2 
30cm q3 40cm

 C  D 



q3

04   k k  :-

(1) 8q2 (2) 6q2 (3) 8q1 (4) 6q1

29. v 

B 

 :-

(1) 
v
B
 (2) 

v
B
 (3) 

B
v
   (4)

B
v


30. 

–
(1) 


(2) 


(3) 


(4) 


31. C1=C, C2=2C, C3=3C

 C4=4C 

C2  C4 –

(1) 
7
4

(2) 
22
3

C2

C1

C4

C3

V

(3) 
3
22

(4) 
4
7

Use stop, look and go method in reading the question
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32. A drum of radius R and mass M, rolls down

without slipping along an inclined plane of

angle  . The frictional force –

(1) Decreases the rotational and translational

motion

(2) Dissipates energy as heat

(3) Decreases the rotational motion

(4) Converts translational energy to rotational

energy

33. The equation of state for 5g of oxygen at a

pressure P and temperature T, when occupying

a volume V, will be :–

(1) PV = 5 RT (2) PV = (5/2) RT

(3) PV = (5/16) RT (4) PV = (5/32)RT

where R is the gas constant.

34. One mole of an ideal gas at an initial

temperature of T K does 6 R joules of work

adiabatically. If the ratio of specific heats of this

gas at constant pressure and at constant volume

is 
5
3

, the final temperature of gas will be :-

(1) (T – 2.4) K (2) (T + 4) K

(3) (T – 4) K (4) (T + 2.4) K

35. If a ball is thrown vertically upwards with speed

u, the distance covered during the last ‘t’

seconds of its ascent is :–

(1) ut (2) 
1
2

gt2

(3) ut – 
1
2

gt2 (4) (u + gt)t

36. A particle moves along a circle of radius

20 
  

m with constant tangential acceleration.

If the velocity of the particle is 80 m/s at the

end of the second revolution after motion has

begin, the tangential acceleration is :–

(1) 40 ms–2 (2) 640  ms–2

(3) 160  ms–2 (4) 40  ms–2

37. The vector sum of two forces is perpendicular

to their vector differences. In that case, the

forces :–

(1) Are equal to each other.

(2) Are equal to each other in magnitude.

(3) Are not equal to each other in magnitude.

(4) Cannot be predicted.

32. R  M   

 –

(1) 

(2) 

(3) 

(4)   

33. 5 P,  T V 
:–
(1) PV = 5 RT (2) PV = (5/2) RT

(3) PV = (5/16) RT (4) PV = (5/32)RT

 R 

34.  
5
3



6R T K

:-

(1) (T – 2.4) K (2) (T + 4) K

(3) (T – 4) K (4) (T + 2.4) K

35. u 

t 



(1) ut (2) 
1
2

gt2

(3) ut – 
1
2

gt2 (4) (u + gt)t

36. 

 
  

20
m 

80 m/s

  
(1) 40 m/s2 (2) 640  m/s2

(3) 160  m/s2 (4) 40  m/s2

37. 



(1) 

(2) 

(3) 

(4) 
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38. An observer moves towards a stationary source

of sound with a speed 1/5th of the  speed of

sound. The wavelength and frequency of the

source emitted are  and f respectively. The

apparent frequency and wavelength recorded by

the observer are respectively :–

(1) 1.2f, 1.2 (2) 1.2f, 

(3) f, 1.2 (4) 0.8f, 0.8

39. An ideal gas heat engine operates in a Carnot

cycle between 227°C and 127°C. It absorbs

6 kcal at the higher temperature. The amount

of heat (in kcal) converted into work is equal

to :–

(1) 4.8 (2) 3.5 (3) 1.6 (4) 1.2

40. The velocity of electromagnetic wave is parallel

to

(1) 
 
B E   (2) 

 
E B     (3) 


E  (4) 


B

41. Water is flowing continuously from a tap

having an internal diameter 8 × 10–3 m. The

water velocity as it leaves the tap is 0.4 ms–1.

The diameter of the water stream at a distance

2 × 10–1 m below the tap is close to :-

(1) 9.6 × 10–3 m (2) 3.6 × 10–3 m

(3) 5.0 × 10–3 m (4) 7.5 × 10–3 m

42. Work done in increasing the size of a soap

bubble from a radius of 3 cm to 5cm is nearly

(Surface tension of soap solution = 0.03 Nm–1) :-

(1) 2 mJ (2) 0.4  mJ

(3) 4 mJ (4) 0.2  mJ

43. A certain block weight 15 N in air. It weight

12 N when immersed in water when immersed in

another liquid it weighs 13 N, the relative density

of the block is :-

(1) 5 (2) 12 (3) 15 (4) None

44. A Young's double slit experiment uses a

monochromatic source. The shape of the

interference fringes formed on a screen is-

(1) hyperbola (2) circle

(3) straight line (4) parabola

45. When an unpolarized light of intensity I0 is

incident on a polarizing sheet, the intensity of

the light which does not get transmitted is-

(1) 
1

2
I0 (2) 

1

4
I0 (3) zero (4) I0

38.  

1/5 

 f 

 

(1) 1.2f, 1.2 (2) 1.2f, 

(3) f, 1.2 (4) 0.8f, 0.8

39. 227°C 127°C

6 kcal



(kcal )  

(1) 4.8 (2) 3.5 (3) 1.6 (4) 1.2

40. 

(1) 
 
B E   (2) 

 
E B     (3) 


E  (4) 


B

41. 8 × 10–3 m 



0.4 ms–1 2 × 10–1 m 

 :-
(1) 9.6 × 10–3 m (2) 3.6 × 10–3 m

(3) 5.0 × 10–3 m (4) 7.5 × 10–3 m

42. 3 cm 5cm

 (
= 0.03 Nm–1) :-

(1) 2 mJ (2) 0.4  mJ

(3) 4 mJ (4) 0.2  mJ

43.  15 N 
12 N 
13 N 
  :-
(1) 5 (2) 12 (3) 15      (4) 

44. 
 
-

(1)  (2) 
(3)  (4) 

45. I0 

-

(1) 
1

2
I0 (2) 

1

4
I0 (3)           (4) I0
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46. Standard reduction potentials of the half

reactions are given below :

F2(g) + 2e– 2F–
(aq)   ; E° = +2.85 V

Cl2(g) + 2e– 2Cl–
(aq) ; E° = +1.36 V

Br2() + 2e
–
 2Br

–
(aq) ; E° = +1.06 V

I2(s) + 2e
–
 2I

–
(aq)     ; E° = +0.53 V

The strongest oxidising and reducing agents

respectively are :

(1) Cl2 and Br
–

(2) Cl2 and I2

(3) F2 and I– (4) Br2 and Cl–

47. Structure of a mixed oxide is cubic

close-packed (c.c.p.). The cubic unit cell of

mixed oxide is composed of oxide ions. One

fourth of the tetrahedral voids are occupied by

divalent metal A and the octahedral voids are

occupied by a monovalent metal B. The

formula of the oxide is :

(1) A2B3O4 (2) AB2O2

(3) ABO2 (4) A2BO2

48. The orbital angular momentum of a p-electron

is given as :-

(1) 
3 h
2 

(2) 
h

6 .
2

(3) 
h

2 
(4) h

3
2

49. Two gase A and B having the same volume

diffuse through a porous partition in 20 and

10 seconds respectively. The molecular mass

of A is 49u. Molecular mass of B will be :-

(1) 50.00 u (2) 12.25 u

(3) 6.50 u (4) 25.00 u

50. 25.3 g of sodium carbonate, Na2CO3 is

dissolved in enough water to make 250 mL of

solution. If sodium carbonate dissociates

completely, molar concentration of sodium ion,

Na
+
 and carbonate ions, CO3

2–
 are respectively

(Molar mass of Na2CO3 = 106 g mol–1)

(1) 0.477 M and 0.477 M

(2) 0.955 M and 1.910 M

(3) 1.910 M and 0.955 M

(4) 1.90 M and 1.910 M

51. The number of atoms in 0.1 mol of a triatomic

gas is :- (NA = 6.02 × 1023 mol–1)

(1) 1.800 × 1022 (2) 6.026 × 1022

(3) 1.806 × 1023 (4) 3.600 × 1023

46.     


F2(g) + 2e

–
 2F

–
(aq)  ; E° = +2.85 V

Cl2(g) + 2e– 2Cl–
(aq) ; E° = +1.36 V

Br2() + 2e– 2Br–
(aq) ; E° = +1.06 V

I2(s) + 2e
–
 2I

–
(aq)     ; E° = +0.53 V



(1) Cl2 Br
–

(2) Cl2  I2

(3) F2  I
–

(4) Br2  Cl
–

47. (c.c.p.) 





A        

B 

(1) A2B3O4 (2) AB2O2

(3) ABO2 (4) A2BO2

48. p-

:-

(1) 
3 h
2 

(2) 
h

6 .
2

(3) 
h

2 
(4) h

3
2

49. A B 
20 10 A 
 49u B 
 :-
(1) 50.00 u (2) 12.25 u

(3) 6.50 u (4) 25.00 u

50. Na2CO3 25.3 g 
250 mL 
Na

+

CO3
2–

 
(Na2CO3 = 106 g mol

–1
)

(1) 0.477 M  0.477 M

(2) 0.955 M  1.910 M

(3) 1.910 M  0.955 M

(4) 1.90 M  1.910 M

51. 0.1 

(NA = 6.02 × 1023 mol–1)

(1) 1.800 × 1022 (2) 6.026 × 1022

(3) 1.806 × 1023 (4) 3.600 × 1023
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52. The bromination of acetone that occurs in acid

solution is represented by this equation:-

CH3COCH3(aq) +Br2 (aq)  CH3COCH2Br(aq)

+H+(aq) + Br– (aq)

These kinetic data were obtained for given

reaction concentrations

Initial Concentrations, M

[CH3COCH3] [Br2] [H+]

0.30 0.05 0.05

0.30 0.10 0.05

0.30 0.10 0.10

0.40 0.05 0.20

Initial Rate, disappearance of Br2,Ms–1

5.7 × 10–5

5.7 × 10–5

1.2 × 10–4

3.1 × 10–4

Based on these data, the rate equation is:-

(1) Rate = k[CH3COCH3] [Br2] [H
+]2

(2) Rate = k[CH3COCH3] [Br2] [H
+]

(3) Rate = k[CH3COCH3][H
+]

(4) Rate = k[CH=COCH3] [Br2]

53. Standard free energies of formation (in kJ/mol)

at 298K are –237.2, – 394.4 and – 8.2 for

H2O(), CO2(g) and pentane (g), respectively.

The value of cellE for the pentane-oxygen fuel

cell is :-

(1) 1.0968 V (2) 0.0968 V

(3) 1.968 V (4) 2.0968 V

54. If 60% of a first order reaction was completed

in 60 minutes, 50% of the same reaction would

be completed in approximately :

(1) 40 minutes (2) 50 minutes

(3) 45 minutes (4) 60 minutes

(log 4 = 0.60, log 5 = 0.69)

55. The Langmuir adsorption isotherm is deduced

using the assumption :

(1) The adsorbed molecules interact with each

other

(2) The adsorption takes place in multilayers

(3) The adsorption sites are equivalent in their

ability to adsorb the particle

(4) The heat of adsorption varies with coverage

52. 


CH3COCH3(aq) +Br2 (aq)  CH3COCH2Br(aq)

+H+(aq) + Br– (aq)





 M
[CH3COCH3] [Br2] [H+]

0.30 0.05 0.05

0.30 0.10 0.05

0.30 0.10 0.10

0.40 0.05 0.20

 Br2
 Ms–1

5.7 × 10–5

5.7 × 10–5

1.2 × 10–4

3.1 × 10–4



(1)  = k[CH3COCH3] [Br2] [H+]2

(2)  = k[CH3COCH3] [Br2] [H+]

(3)  = k[CH3COCH3][H+]

(4)  = k[CH=COCH3] [Br2]

53. 298K H2O (), CO2(g)(g) 

            (kJ/mol )

–237.2, – 394.4  – 8.2 

 cellE 

(1) 1.0968 V (2) 0.0968 V

(3) 1.968 V (4) 2.0968 V

54. 60%, 60 

50% 

(1) 40  (2) 50 

(3) 45  (4) 60 
(log 4 = 0.60, log 5 = 0.69)

55. 



(1) 

(2) 

(3) 



(4) 

Take it Easy and Make it Easy
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56. If EFe Fe2


 = –0.441 V and

E
Fe Fe3 2 


 = 0.771 V, the standard EMF of

the reaction : Fe + 2Fe3+  3Fe2+

will be :-

(1) 0.330 V (2) 1.653 V

(3) 1.212 V (4) 0.111 V

57. The vapour pressure of two liquids ‘P’ and ‘Q’

are 80 and 60 torr, respectively. The total

vapour pressure of solution obtained by mixing

3 mole of P and 2 mol of Q would be :-

(1) 68 torr (2) 140 torr

(3) 72 torr (4) 20 torr

58. The ionization constant of ammonium

hydroxide is 1.77 × 10
–5

 at 298 K. Hydrolysis

constant of ammonium chloride is :-

(1) 5.65 × 10
–12

(2) 5.65 × 10–10

(3) 6.50 × 10–12

(4) 5.65 × 10–13

59. The dissociation constants for acetic acid and

HCN at 25°C are 1.5 × 10
–5

 and 4.5 × 10
–10

,

respectively. The equilibrium constant for the

equilibrium

CN
– + CH3COOH   HCN + CH3COO–

would be :-

(1) 3.0 × 10
4

(2) 3.0 × 10
5

(3) 3.0 × 10
–5

(4) 3.0 × 10
–4|

60. Calculate the pOH of a solution at 25°C that

contains 1 × 10–10 M of hydronium ions, i.e.

H
3
O+:

(1) 1.000 (2) 7.000

(3) 4.000 (4) 9.000

61. The correct order of decreasing acid strength

of trichloroacetic acid (A), trifluoroacetic acid

(B), acetic acid (C) and formic acid (D) is:

(1) A > B > C > D

(2) A > C > B > D

(3) B > A > D > C

(4) B > D > C > A

56.  E
Fe Fe2
  = –0.441 V 

E
Fe Fe3 2 
  = 0.771 V, :

Fe + 2Fe3+  3Fe2+

(EMF)  :-
(1) 0.330 V (2) 1.653 V

(3) 1.212 V (4) 0.111 V

57. ‘P’  ‘Q’ 80 60 torr

P 3 Q 2 

:-

(1) 68 torr (2) 140 torr

(3) 72 torr (4) 20 torr

58. 298K   

1.77 × 10–5 



(1) 5.65 × 10
–12

(2) 5.65 × 10
–10

(3) 6.50 × 10
–12

(4) 5.65 × 10
–13

59. HCN 25°C

1.5 × 10–5 4.5 × 10–10 

CN– + CH3COOH   HCN + CH3COO–



(1) 3.0 × 10
4

(2) 3.0 × 10
5

(3) 3.0 × 10–5 (4) 3.0 × 10–4|

60. 25°C pOH 

1 × 10–10 M H
3
O+ 

(1) 1.000 (2) 7.000

(3) 4.000 (4) 9.000

61.  (A), 

(B), (C) (D) 



(1) A > B > C > D

(2) A > C > B > D

(3) B > A > D > C

(4) B > D > C > A
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62. Predict the products in the given reaction.

CHO

Cl

50% KOH

(1) 

Cl

CH OH2  + 

Cl

COO
—

(2) 

OH

CH OH2 + 

OH

COO
—

(3) 

Cl

CH OH2 + 

Cl

CH COO2

—

(4) 

OH

CH OH2  + 

OH

OH

63. Which of the following is not a fat soluble

vitamin ?

(1) Vitamin A

(2) Vitamin B complex

(3) Vitamin D

(4) Vitamin E

64. Consider the reaction :

(i) (CH3)2CH–CH2Br 2 5C H OH

(CH3)2CH–CH2OC2H5 + HBr

(ii) (CH3)2CH–CH2Br 

2 5C H O

(CH3)2CH–CH2OC2H5 + Br–

The mechanisms of reaction (i) and (ii) are

respectively :-

(1) 2N
S  and 1N

S (2) 1N
S  and 2N

S

(3) 1N
S  and 1N

S (4) 2N
S  and 2N

S

65. The IUPAC name of the compound

CH3CH=CHCCH is :-

(1) Pent-3-en-1-yne

(2) Pent-2-en-4-yne

(3) Pent-1-yn-3-ene

(4) Pent-4-yn-2-ene

62. 

CHO

Cl

50% KOH

(1) 

Cl

CH OH2  + 

Cl

COO
—

(2) 

OH

CH OH2 + 

OH

COO
—

(3) 

Cl

CH OH2 + 

Cl

CH COO2

—

(4) 

OH

CH OH2  + 

OH

OH

63.  ?

(1)  A

(2)  B 

(3)  D

(4)  E

64.  :

(i) (CH3)2CH–CH2Br 2 5C H OH

(CH3)2CH–CH2OC2H5 + HBr

(ii) (CH3)2CH–CH2Br 

2 5C H O

(CH3)2CH–CH2OC2H5 + Br–

(i)  (ii)  :-

(1) 2N
S   1N

S (2) 1N
S   2N

S

(3) 1N
S   1N

S (4) 2N
S   2N

S

65. CH3CH=CHCCH IUPAC  :-

(1) -3--1-

(2) -2--4-

(3) -1--3-

(4) -4--2-
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66. In a set of reactions, ethyl benzene yielded a product

D

CH CH2 3 4KMnO
KOH B2

3

Br
FeCl C 2 5C H OH

H
D

'D' would be :-

(1) 
Br

COOC H2 5

(2) CH –CH–COOC H2 2 5

Br

(3) 

Br

Br
CH COOC H2 2 5

(4) 

COOH

OCH CH2 3

67. Which of the following reactions will not result

in the formation of carbon-carbon bonds ?

(1) Friedel-Crafts acylation

(2) Reimer-Tieman reaction

(3) Cannizaro reaction

(4) Wurtz reaction

68. The correct order of increasing reactivity of

C–X bond towards nucleophile in the following

compounds is :-

X X

NO2

NO2

 (CH3)3C–X  (CH3)2CH–X

(I)        (II)              (III)           (IV)

(1)  III < II < I < IV

(2)  I < II < IV < III

(3) II < III < I < IV

(4)  IV < III < I < II

69. Which of the following hormones contains

iodine ?

(1) Thyroxine (2) Insulin

(3) Testosterone (4) Adrenaline

66. D 



CH CH2 3 4KMnO
KOH B2

3

Br
FeCl C 2 5C H OH

H
D

'D' 

(1) 
Br

COOC H2 5

(2) CH –CH–COOC H2 2 5

Br

(3) 

Br

Br
CH COOC H2 2 5

(4) 

COOH

OCH CH2 3

67. 



(1) 

(2) 

(3) 

(4) 

68. C–X 



X X

NO2

NO2

 (CH3)3C–X  (CH3)2CH–X

(I)        (II)              (III)           (IV)

(1)  III < II < I < IV

(2)  I < II < IV < III

(3) II < III < I < IV

(4)  IV < III < I < II

69. 

(1)  (2) 
(3)  (4) 

      
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70. Predict the product C obtained in the following

reaction of butyne–1 :

CH
3
–CH

2
–CCH + HCl  B HI  C

(1) 

(2) 

(3) 

(4)

71. In which of the following molecules all the

bonds are not equal :-

(1) CIF3 (2) BF3 (3) AlF3 (4) NF3

72. Aniline in a set of reactions yielded a product D

NaNO
HCl

2  A
CuCN

 

H

Ni

B

D HNO2  C

The structure of the product D would be –

(1) C6H5CH2OH

(2) C6H5CH2NH2

(3) C6H5NHOH

(4) C6H5NHCH2CH3

73. The compound CH –C=CH–CH3 3

CH3

on reaction

with NaIO4 in the presence of KMnO4 gives :-

(1) CH3COCH3

(2) CH3COCH3 + CH3COOH

(3) CH3COCH3 + CH3CHO

(4) CH3CHO + CO2

74. Which one of the following is a chain growth

polymer :-

(1) Nucleic acid (2) Polystyrene

(3) Protein (4) Starch

75. Number of chiral carbons in –D–(+)– glucose

is

(1) Six (2) Three

(3) Four (4) Five

70. -1 C 



CH
3
–CH

2
–CCH + HCl  B HI  C

(1) 

(2) 

(3) 

(4) 

71. 
:-
(1) CIF3 (2) BF3 (3) AlF3 (4) NF3

72.  D 

NaNO
HCl

2  A
CuCN

 

H

Ni

B

D HNO2  C

 D  –
(1) C6H5CH2OH

(2) C6H5CH2NH2

(3) C6H5NHOH

(4) C6H5NHCH2CH3

73. KMnO4  CH –C=CH–CH3 3

CH3

 

NaIO4 
(1) CH3COCH3

(2) CH3COCH3 + CH3COOH

(3) CH3COCH3 + CH3CHO

(4) CH3CHO + CO2

74.  :-

(1)  (2) 

(3)  (4) 

75. –D–(+)–:-

(1)  (2) 

(3)  (4) 

       
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76. In a set of the given reactions, acetic acid

yielded a product C.

 CH3COOH + PCl5  A
C H

Anh AlCl
6 6

3
 . B

C H MgBr
ether

2 5  C

product C would be :-

(1) CH3CH(OH)C2H5 (2) CH3COC6H5

(3) CH3CH(OH)C6H5 (4) CH –C(OH)C H3 6 5

C H2 5

77. Four diatomic species are listed below. Identify

the correct order in which the bond order is

increasing in them :

(1) C2
2–

 < He2
+
 < O2

–
 < NO

(2) He2
+ < O2

– <  NO < C2
2–

(3) NO < O2
–
 < C2

2–
 < He2

+

(4) O2
–
 < NO < C2

2–
 < He2

+

78. In which of the following arrangements the

given sequence is not strictly according to the

property indicated against it ?

(1) NH3 < PH3 < AsH3 < SbH3 :

increasing acidic character

(2) CO2 < SiO2 < SnO2 < PbO2 :

increasing oxidising power

(3) HF < HCl < HBr < HI :

increasing acidic strength

(4) H2O < H2S < H2Se < H2Te

increasing  pKa values

79. Which of the statements is not true?

(1) K2Cr2O7 solution in acidic medium is

orange

(2) K2Cr2O7 solution becomes yellow on

increasing the pH beyond 7

(3) On passing H2S through acidified K2Cr2O7

solution, a milky colour is observed

(4) Na2Cr2O7 is preferred over K2Cr2O7 in

volumetric analysis

80. Which one of the alkali metals, forms only,

the normal oxide, M2O on heating in air?

(1) Li (2) Na (3) Rb (4) K

81. The following reactions take place in the blast

furnace in the preparation of impure iron.

Identify the reaction pertaining to the formation

of the slag:-

(1) 2C(s) + O2(g)  2CO(g)

(2) Fe2O3(s) + 3CO(g)  2Fe() + 3CO2(g)

(3) CaCO3(s)  CaO(s) + CO2(g)

(4) CaO(s) + SiO2(s)  CaSiO3(s)

76. 
C 

 CH3COOH + PCl5  A
C H

AlCl
6 6

3
  B

C H MgBr
2 5  C 

C  :-
(1) CH3CH(OH)C2H5 (2) CH3COC6H5

(3) CH3CH(OH)C6H5 (4) CH –C(OH)C H3 6 5

C H2 5

77. 


(1) C2

2–
 < He2

+
 < O2

–
 < NO

(2) He2
+
 < O2

–
 <  NO < C2

2–

(3) NO < O2
–
 < C2

2–
 < He2

+

(4) O2
–
 < NO < C2

2–
 < He2

+

78. 
?
(1) NH3 < PH3 < AsH3 < SbH3 :


(2) CO2 < SiO2 < SnO2 < PbO2 :


(3) HF < HCl < HBr < HI :


(4) H2O < H2S < H2Se < H2Te

pKa 

79. 

(1) K2Cr2O7 
(2) 7 pH K2Cr2O7 


(3) K2Cr2O7 H2S 


(4)    K2Cr2O7  
Na2Cr2O7  

80. 
, M2O 
(1) Li (2) Na (3) Rb (4) K

81. 

:-

(1) 2C(s) + O2(g)  2CO(g)

(2) Fe2O3(s) + 3CO(g)  2Fe() + 3CO2(g)

(3) CaCO3(s)  CaO(s) + CO2(g)

(4) CaO(s) + SiO2(s)  CaSiO3(s)
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82. Na+ 1E1 = 5.1 Na+ 

:-
(1) +0.2 eV (2) –5.1 eV

(3) –10.2 eV (4) +2.55 eV

83.   C–O 

 ?

(1) Fe(CO)5 (2) 
6Mn(CO)

(3) Cr(CO)6 (4) –
6V(CO)

84. sp
3
 

 :-
(1) SF4 (2) BF4

–
(3) NH4

+
(4) CH4

85. 
(1) NO2 (2) KO2

(3) BaO2 (4) MnO2

86. 


(1) K+ > Ca2+ > Cl– > S2–

(2) Ca2+ > K+ > S2– > Cl–

(3) Cl– > S2– > Ca2+ > K+

(4) S2– > Cl– > K+ > Ca2+

87. 




(1) SrSO4 (2) CaSO4

(3) BeSO4 (4) BaSO4

88. 

(1) MI > MBr > MCl > MF

(2) MCl > MI > MBr > MF

(3) MF > MCl > MBr > MI

(4) MF > MCl > MI > MBr

89. 


(1) BeO (2) B2O3

(3) CaO (4) SiO2

90.  


(1) [Co(en)3]

3+

(2) [Co(en)2Cl2]
+

(3) [Co(NH3)3Cl3]
0

(4) [Co(en)Cl2(NH3)2]
+

(en = )

82. What is the value of electron gain enthalpy of

Na+ if IE1 of Na = 5.1 eV :-

(1) +0.2 eV (2) –5.1 eV

(3) –10.2 eV (4) +2.55 eV

83. Which of the following carbonyls will have the

strongest C–O bond ?

(1) Fe(CO)5 (2) 
6Mn(CO)

(3) Cr(CO)6 (4) –
6V(CO)

84. In which of the following molecules the central

atom does not have sp3 hybridization :-

(1) SF4 (2) BF4
– (3) NH4

+ (4) CH4

85. Which one of the following compounds is a

peroxide?

(1) NO2 (2) KO2 (3) BaO2 (4) MnO2

86. The correct order of the decreasing ionic radii

among the following isoelectronic species is :-

(1) K+ > Ca2+ > Cl– > S2–

(2) Ca2+ > K+ > S2– > Cl–

(3) Cl– > S2– > Ca2+ > K+

(4) S2– > Cl– > K+ > Ca2+

87. Which of the following alkaline earth metal

sulphates has hydration enthalpy higher than

the lattice enthalpy ?

(1) SrSO4 (2) CaSO4

(3) BeSO4 (4) BaSO4

88. In the case of alkali metals, the covalent

character decreases in the order :-

(1) MI > MBr > MCl > MF

(2) MCl > MI > MBr > MF

(3) MF > MCl > MBr > MI

(4) MF > MCl > MI > MBr

89. Which of the following oxides is not expected

to react with sodium hydroxide ?

(1) BeO (2) B2O3

(3) CaO (4) SiO2

90. Which of the following does not show optical

isomerism ?

(1) [Co(en)3]3+

(2) [Co(en)2Cl2]
+

(3) [Co(NH3)3Cl3]
0

(4) [Co(en)Cl2(NH3)2]
+

(en = ethylenediamine)
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91. The idea of mutations was brought forth by :-

(1) Hardy Weinberg who worked on allele

frequencies in a population

(2) Charles Darwin, who observed a wide variety

of organisms during sea voyage

(3) Hugo do Vries, who worked on evening

primrose

(4) Gregor Mendel, who worked on Pisum sativum

92. Sweet potato is homologous to :-

(1) Turnip (2) Potato

(3) Colocasia (4) Ginger

93. What was the most significant trend in the

evolution of modern man (Homo sapiens) from

his ancestors?

(1) Upright posture

(2) Shortening of jaws

(3) Binocular vision

(4) Increasing brain capacity

94. Given below are four statements (A-D) each with

one or two blanks. Select the option which

correctly fills up the blanks in two statements :

Statements :

(A) Wings of butterfly and birds look alike and

are the results of ___(i)___ evolution

(B) Miller showed that CH4, H2, NH3 and

___(i)__, when exposed to electric discharge in

flask resulted in formation of ___(ii)__

(C) Vermiform appendix is a ___(i)___ organ and

an ___(ii)___ evidence of evolution.

(D) According to Darwin evolution took place due

to __(i)__ and __(ii)__ of the fittest.

Options :

(1) (A) - (i) convergent

(B) - (i) oxygen, (ii) nucleosides

(2) (B) - (i) water vapour, (ii) amino acids,

(C) - (i) rudimentary (ii) anatomical

(3) (C) - (i) vestigial, (ii) anatomical,

(D) - (i) mutations, (ii) multiplication

(4) (D) - (i) small variations, (ii) survival,

(A) - (i) convergent

91.  
 
(1) 
  

(2) 
   

(3) 


(4) 
92.  

(1)  (2) 
(3)  (4) 

93.  
 


(1)  
(2) 
(3) 
(4) 

94. (A-D)



 
(A) 
___(i)___ 
(B) CH4, H2, NH3 
___(i)__, 
___(ii)__ 

(C)  ___(i)___ 
   ___(ii)___ 
(D) 
__(i)__ __(ii)__

 :
(1) (A) - (i) 

(B) - (i)  (ii) 
(2) (B) - (i)  (ii) 

(C) - (i)  (ii) 
(3) (C) - (i)  (ii) 

(D) - (i)  (ii) 
(4) (D) - (i)   (ii) 

(A) - (i) 

   
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95. 


(1) 



(2) RBCs 

  RBCs  

(3) WBCs

   
(4) RBCs 

   
96. 

(a-d) 


(a) 

 

(b) 
 

(c)     B- 
(B-

(d) 


 

(1) (a)  (b) (2) (b)  (c)

(3) (c)  (d) (4) (a)  (c)

97.  
(1) 


(2) 


(3)            



 

(4) 


98. 

  ?

(1) 
(2)  
(3) 
(4) 

95. A person suffering from a disease caused by

Plasmodium, experiences recurring chill and fever

at the time when ?

(1) The trophozoites reach maximum growth and

give out certain toxins.

(2) the parasite after its rapid multiplication inside

RBCs ruptures them, releasing the stage to

enter fresh RBCs.

(3) the microgametocytes and megagametocytes

are being destroyed by the WBCs.

(4) the sporozoites released from RBCs are being

rapidly killed and broken down inside spleen.

96. Consider the following four statements (a-d)

regarding kidney transplant and select the two

correct ones out of these.

(a) Even if a kidney transplant is proper the

recipient may need to take immuno-

suppresants for a long time

(b) The cell-mediated immune response is

responsible for the graft rejection

(c) The B-lymphocytes are responsible for

rejection of the graft

(d) The acceptance or rejection of a kidney

transplant depends on specific interferons

The two correct statements are :

(1) (a) and (b) (2) (b) and (c)

(3) (c) and (d) (4) (a) and (c)

97. Select the correct statement from the ones given

below :

(1) Cocaine is given to patients after surgery as it

stimulates recovery

(2) Barbiturates when given to criminals make

them tell the truth

(3) Morphine is often given to persons who have

undergone surgery as a pain killer

(4) Chewing tobacco lowers blood pressure and

heart rate

98. Globulins contained in human blood plasma are

primarily involved in :-

(1) Clotting blood

(2) Defence mechanisms of body

(3) Osmotic balance of body fluids

(4) Oxygen transport in the blood
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99. 


 



     

(1)  

(2) 8 -  

  
(3)  

 
(4)  


100.     

(1) 
(2) 
(3) 
(4) 

101. 
 ?
(1)  : 




(2)  : LH  FSH 




(3)  : 
 




(4)  :  
  



99. Identify the human development stage shown

below as well as the related right place of its

occurrence in a normal pregnant woman, and

select the right option for the two together.

Options :

Developmental Site of

stage occurrence

(1) Blastocyst Uterine wall

(2) 8 - celled Starting point of

morula Fallopian tube

(3) Late morula Middle part of

Fallopian tube

(4) Blastula End part of

Fallopian tube

100. What is the figure given below showing in

particular?

(1)  Tubectomy (2) Vasectomy

(3) Ovarian cancer (4) Uterine cancer

101. Which one of the following is the correct

matching of the events occuring during menstrual

cycle ?
(1) Menstruation : Breakdown of

myometrium and
ovum not fertilised

(2) Ovulation : LH and FSH attain
peak level and
sharp fall in the
secretion of
progesterone.

(3) Proliferative phase : Rapid
regeneration of
myometrium and
maturation of
Graafian follicle.

(4) Development of : Secretory phase
corpus luteum and  increased

secretion of
progesterone.
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102. Which one of the following statements is true

regarding digestion and absorption of food in

humans ?

(1) About 60% of starch is hydrolysed by salivary

amylase in our mouth

(2) Oxyntic cells in our stomach secrete the

proenzyme pepsinogen

(3) Fructose and amino acids are absorbed

through intestinal mucosa with the help of

carrier ions like Na+

(4) Chylomicrons are small lipoprotein particles

that are transported from intestine into blood

capillaries

103. If for some reason the parietal cells of the gut

epithelium become partially non-functional, what

is likely to happen ?

(1) The pH of stomach will fall abruptly

(2) Steapsin will be more effective

(3) Proteins will not be adequately hydrolysed by

pepsin into proteoses and peptones

(4) The pancreatic enzymes and specially the

trypsin and lipase will not work efficiently

104. Match the source gland with its respective

hormone as well as the function :-

Source Hormone      Function

gland

(1) Anterior Oxytocin Contraction of

pituitary uterus muscles

during child birth

(2) Posterior Vasopressin Stimulates

pituitary resorption of

water in the distal

tubules in the

nephron

(3) Corpus Estrogen Supports

luteum pregnancy

(4) Thyroid Thyroxine Regulates blood

calcium level

102.    

?

(1) 60% 



(2) 

  

(3)   

Na+ 



(4) 

    

103.  





(1) pH  

(2) 

(3) 



(4) 



104. 
 :-
      

(1)   





(2)   



 



(3)   

  

(4)    

 

        
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105. Given below is an incomplete table about certain

hormones, their source glands and one major

effect of each on the body in humans. Identify the

correct option for the three blanks A, B and C :

  Gland  Secretion    Effect on Body

Oestrogen Maintenance of

A secondary sexual

characters

Alpha cells Raises blood sugar

of Islets of     B level

Langerhans

Anterior     C Over secretion

pituitary leads to gigantism

Options :

   A B C

(1) Ovary Glucagon Growth hormone

(2) Placenta Insulin Vasopressin

(3) Ovary Insulin Calcitonin

(4) Placenta Glucagon Calcitonin

106. Signals from fully developed foetus and placenta

ultimately lead to parturition which requires the

release of :

(1) Oxytocin from maternal pituitary

(2) Oxytocin from foetal pituitary

(3) Relaxin from placenta

(4) Estrogen from placenta

107. Given below is the diagrammatic sketch of a

certain type of connective tissue. Identify the parts

labelled A, B, C and D, and select the right option

about them.

A

B

C

D
Options :

Part-A Part-B Part-C Part-D

(1) Macro- Collagen Fibroblast Mast cell

phage fibres

(2) Mast cell Collagen Fibroblast Macro-

fibres phage

(3) Macro- Fibroblast Collagen Mast cell

phage fibres

(4) Mast cell Macro- Fibroblast Collagen

phage fibres

105. 



 
A, B  C :

    
A  

 

 B   

 


 C 
 :

   A B C

(1)   
(2)   
(3)   
(4)   

106. 


(1)  

(2)  
(3)  
(4)  

107. 
A, B, C D


A

B

C

D



-A   -B  -C -D
(1)    
   

(2)    
   

(3)    
   

(4)    
   
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108. 

(1) 
(2) 
(3) 
(4)  

109. 
?
(1) 
(2)  
(3) 
(4)  

110. 


  

(1)   

 

(2)   






(3)    

   

  
  

(4)   
   




111. 
    
(1)  (2) 
(3)  (4) 

112. 




  
    
  

  
   

 
  

108. The cells lining the blood vessels belong to the

category of :

(1) Connective tissue
(2) Smooth muscle tissue

(3) Squamous epithelium
(4) Columnar epithelium

109. The ciliated columnar epithelial cells in humans
are known to occur in :-

(1) Eustachian tube and stomach lining
(2) Bronchioles and Fallopian tubes

(3) Bile duct and oesophagus
(4) Fallopian tubes and urethra

110. Select the answer with correct matching of the

structure, its location and function.

Structure Location Function

(1) Cerebellum Mid brain Controls

respiration

and gastric

secretions

(2) Hypothalamus Fore brain Controls body

temperature,

urge for eating

and drinking

(3) Blind spot Near the Rods and

where optic cones  are

nerve leaves present but

the eye inactive here

(4) Eustachian Anterior Equalizes air

tube part of pressure on

internal ear either side of

tympanic

membrane

111. The nerve centres which control the body temperature and

the urge for eating are contained in :

(1) Thalamus (2) Hypothalamus

(3) Pons (4) Cerebellum
112. Three of the following pairs of the human skeletal

parts are correctly matched with their respective
inclusive skeletal category and one pair is not

matched. Identify the non-matching pair

Pairs of skeletal parts Category

(1) Malleus and stapes Ear ossicles

(2) Sternum and Ribs Axial skeleton

Clavicle and 
(3) Pelvic girdle

Glenoid Cavity

Appendicular 
(4) Humerus and ulna

skeleton
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113. The principal nitrogenous excretory compound in

humans is synthesised :

(1) in the liver, but eliminated mostly through

kidneys

(2) in kidneys but eliminated mostly through liver

(3) in kidneys as well as eliminated by kidneys

(4) in liver and also eliminated by the same through

bile

114. Which one of the following statements in regard to

the excretion by the human kidneys is correct?

(1) Ascending limb of Loop of Henle is
impermeable to electrolytes

(2) Descending limb of Loop of Henle is
impermeable to water

(3) Distal convoluted tubule is incapable of
reabsorbing HCO

3
–;

(4) Nearly 99 per cent of the glomerular filtrate is
reabsorbed by the renal tubules

115. Given below are four statements (a-d) regarding

human blood circulatory system :

(a) Arteries are thick-walled and have narrow

lumen as compared to veins.

(b) Angina is acute chest pain when the blood

circulation to the brain is reduced

(c) Persons with blood group AB can donate

blood to any person with any blood group

under ABO system.

(d) Calcium ions play a very important role in

blood clotting.

Which two of the above statements are correct?

(1) (a) and (b) (2) (b) and (c)

(3) (c) and (d) (4) (a) and (d)

116. Which one of the following is a possibility for

most of us in regard to breathing, by making a

conscious effort ?

(1) The lungs can be made fully empty by

forcefully breathing out all air from them

(2) One can breathe out air totally without

oxygen.

(3) One can breathe out air through eustachian

tubes by closing both the nose and the mouth

(4) One can consciously breath in and breath out

by moving the diaphragm alone, without

moving the ribs at all.

113.   :

(1) 


(2) 


(3)    
(4) 
 

114.  
 ?
(1)  

 
(2) 


(3) HCO
3
– 


(4) 99 


115. (a-d) 
 :

(a) 

 

(b) 



(c) AB ABO 

 

(d) 

 

 

(1) (a)  (b) (2) (b)  (c)

(3) (c)   (d) (4) (a)  (d)

116. 

  

(1) 

  
(2) 
  

(3) 



(4) 

 
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MAJOR TEST

PRE-MEDICAL : ENTHUSIAST,  LEADER & ACHIEVER COURSE

117. The figure given below shows a small part of

human lung where exchange of gases takes place.

In which one of the options given below, the one

part, A, B, C or D is correctly identified along with

its function

Options :

(1) C : arterial capillary-passes oxygen to tissues

(2) A : alveolar cavity-main site of exchange of

respiratory gases

(3) D : Capillary wall-exchange of O2 and CO2

takes place here

(4) B : red blood cell-transport of CO2 mainly

118. Which one of the following is a viral disease of

poultry ?

(1) Pasteurellosis (2) Salmonellosis

(3) Coryza (4) New Castle disease

119. Which one of the following pairs is mismatched?

(1) Bombyx mori –  Silk

(2) Pila globosa –  Pearl

(3) Apis indica –  Honey

(4) Kenia lacca –  Lac

120. Which one of the following groups of three

animals each is correctly matched with their one

characteristic morphological feature ?

Animals              Morphological feature

(1) Scorpion, Spider, Ventral solid central

Cockroach  nervous system

(2) Cockroach, Locust, Metameric

Taenia segmentation

(3) Liver fluke, Bilateral symmetry

Sea - anemone,

Sea – cucumber

(4) Centipede, Prawn, Jointed appendages

Sea urchin

121. Which one of the following is a matching pair of

a body feature and the animal possessing it ?

(1) Ventral heart –    Scorpion

(2) Post-anal tail –    Octopus

(3) Ventral central –    Leech

nervous system

(4) Pharyngeal gill slits –    Chamaeleon

absent in embryo

117. 

A, B, C  D 


 :
(1) C : 
(2) A : 


(3) D : O2  CO2

  
(4) B : CO2 

118. 

(1)  (2) 
(3)  (4) 

119. 
(1)  –  
(2)  –  
(3)  –  
(4)  –  

120.    

 
          

(1)    


(2)   
(3)  


(4)   


121. 
(1)  –    

(2)  –    

(3)  –    

(4)    –    

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122. Which one of the following options gives the

correct categorisation of six animals according to

the type of nitrogenous wastes (A, B, C), they give

out

      

A

AMMONOTELIC

B

UREOTELIC

C

URICOTELIC

(1)
Aquatic

amphibia
Frog,

Humans

Pigeon, 
Lizards,

Cockroach

(2)
Aquatic

amphibia
Cockroach,

Humans
Frog, Pigeon,

Lizards

(3)
Pigeon, 
humans

Aquatic
Amphibia,

Lizards

Cockroach,
Frog

(4)
Frog, 

Lizards

Aquatic 
Amphibia,
Humans

Cockroach,
Pigeon

123. In which one of the following the genus name, its

two character and its class/phylum are correctly

matched?

Genus       Two characters Class/

name Phylum

(1) Ascaris (a) Body segmented Annelida

(b) Males and

females distinct

(2) Salamendra (a) A tympanum Amphibia

represents ear

(b) Fertilization is

external

(3) Pteropus (a) Skin prossesses Mammalia

hair

(b) Oviparous

(4) Aurelia (a) Cnidoblasts Coelenterata

(b) Organ level of

organization

124. Which one of the following groups of animals is
correctly matched with its one characteristic
feature without even a single exception ?
(1) Reptilia : possess 3-chambered heart with one

incompletely divided ventricle
(2) Chordata : possess a mouth provided with an

upper and a lower jaw
(3) Chondrichthyes : possess cartilaginous

endoskeleton
(4) Mammalia : give birth to young ones

122. 

(A, B, C),  

A

veksfu;k 

mRlthZ

B

;wfj;k 

mRlthZ

C

;wfjd vEy 

mRlthZ

(1)
tyh; 

,sEQhfc;k
esa<d] ekuo

dcwrj] 

fNidfy;ka] 

dkdjksp

(2)
tyh; 

,sEQhfc;k
dkdjksp] ekuo

esa<d] dcwrj] 

fNidfy;k¡

(3) dcwrj] ekuo

tyh;] 

,sEQhfc;k] 

fNidfy;ka

dkdjksp] esa<d

(4)
esa<+d] 

fNidfy;ka

tyh; 

,sEQhfc;k] ekuo
dkdjksp] dcwrj

123. 



         /

 

(1)  (a)  

(b) 

(2)  (a)  

    

(b) 

 

(3)  (a) 

   

(b) 

(4)  (a)  
(b) 
    

124. 
 ?
(1)  3-
 

(2) 
 

(3)      


(4)  
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125. What is common to whale, seal and shark ?

(1) Homoiothermy

(2) Seasonal migration

(3) Thick subcutaneous fat

(4)Convergent evolution

126. Given below is a diagrammatic cross section of

a single loop of human cochlea :-

Which one of the following options correctly

represents the names of three different parts ?
(1) D : Sensory hair cells, A : Endolymph

B: Tectorial  membrane
(2) A: Perilymph, B : Tectorial membrane

C : Endolymph
(3) B :Tectorial membrane, C :Perilymph,

D:  Secretory cells
(4) C: Endolymph,D : Sensory hair cells,

A : Serum

127. Cu ions released from copper-releasing Intra Uterine

Devices (IUDs) :

(1) prevent ovulation

(2) make uterus unsuitable for implantation

(3) increase phagocytosis of sperms

(4) suppress sperm motility

128. Given below are four methods (A–D) and their

modes of action (a–d) in achieving contraception.

Select their correct matching from the four options

that follow

Method     Mode of Action

A. The pill (a) Prevents sperms

reaching cervix

B. Condom (b) Prevents

implantation

C. Vasectomy (c) Prevents ovulation

D. Copper T (d) Semen contains no

sperms

Matching :-

(1) A – (c), B – (d), C – (a), D – (b)

(2) A – (b), B – (c), C – (a), D – (d)

(3) A – (c), B – (a), C – (d), D – (b)

(4) A – (d), B – (a), C – (b), D – (c)

125.   
(1) 
(2) 
(3) 
(4)  

126. 

    



 

(1) D :  

A : B: 

(2) A:  B: C :

(3) B :, C :, D: 

(4) C: ,D : , A : 
127. (IUDs) 

Cu   :

(1)   

(2) 

(3) 

(4) 
128. 

(A –D) 
(a – d)  
 
       

A.  (a) 
  

B.  (b) 

C.  (c)  

D. T (d) 
  

 
(1) A – (c), B – (d), C – (a), D – (b)

(2) A – (b), B – (c), C – (a), D – (d)

(3) A – (c), B – (a), C – (d), D – (b)

(4) A – (d), B – (a), C – (b), D – (c)
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129. Which one of the following is the true description

about an animal concerned ?

(1) Rat – Left kidney is slightly higher in position

than the right one

(2) Cockroach – 10 pairs of spiracles (2 pairs on

   thorax and 8 pairs on abdomen)

(3) Earthworm – The alimentary canal consists of

a sequence of pharynx,  oesophagus,stomach,

gizzard and intestine

(4) Frog – Body divisible into three regions–head,

neck and trunk

130. Compared to blood our lymph has :-

(1) More RBCs and less WBCs

(2) No plasma

(3) Plasma without proteins

(4) More WBCs and no RBCs

131. About 98 percent of the mass of every living

organism is composed of just six elements

including carbon, hydrogen, nitrogen, oxygen and:

(1) Calcium and phosphorus

(2) Phosphorus and sulphur

(3) Sulphur and magnesium

(4) Magnesium and sodium

132. Which one of the following structural formulae

of two organic compounds is correctly identified

along with its related function ?

O
CH –O–C–R2

R –C–O–CH2

CH –O–P–O–CH –CH2 2 2

O

O

OH N
CH3 CH3CH3

A

N

N

N

NH

B

NH2

(1) B : adenine - a nucleotide that makes up

nucleic acids

(2) A : Triglyceride - major source of energy

(3) B : Uracil - a component of DNA

(4) A : Lecithin - a component of cell membrane

133. Which one of the following pairs of nitrogenous

bases of nucleic acids, is wrongly  matched with

the category mentioned against it ?

(1) Guanine, Adenine – Purines

(2) Adenine, Thymine – Purines

(3) Thymine, Uracil – Pyrimidines

(4) Uracil, Cytosine – Pyrimidines

129. 

(1)  –  

  

(2)  – 10(2

 8 )

(3) – 

 

(4)  –  

 
130.     :-

(1) RBCs WBCs  

(2) 
(3)  
(4) WBCs RBCs 

131. 98 

 
(1) 
(2) 
(3) 
(4) 

132. 


?

O
CH –O–C–R2

R –C–O–CH2

CH –O–P–O–CH –CH2 2 2

O

O

OH N
CH3 CH3CH3

A

N

N

N

NH

B

NH2

(1) B : 

 

(2) A :  
(3) B : - DNA
(4) A :  -  

133. 

(1)  

(2)  

(3) 
(4) 
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134. Eutrophication is often seen in :-

(1) Deserts (2) Fresh water lakes

(3) Ocean (4) Mountains
135. The living organisms can be unexceptionally

distinguished from the non-living things on the
basis of their ability for :-
(1) Growth and movement
(2) Responsiveness to touch
(3) Interaction with the environment and

progressive evolution
(4) Reproduction

136. Consider the following statements (A)-(D) each

with one or two blanks.
(A) Bears go into ......(1)..... during winter to

.......(2)......  cold weather
(B) A conical age pyramid with a broad base

represents ....(3)..... human population.
(C) A wasp pollinating a fig flower is an example

of ........(4)......
(D) An are a with high levels of species richness

is known as ............(5)..........
Which one of the following options, gives the
correct fill ups for the respective blank numbers
from (1) to (5) in the statements?
(1) (1) - hibernation, (2) - escape,

(3) - expanding, (5) - hot spot,
(2) (3) - stable (4) - commensalism, (5) - marsh
(3) (1) - aestivation, (2) - escape,

(3) - stable, (4) mutualism
(4) (3) - expanding, (4) commensalism,

(5) - biodiversity park

137. The table below gives the populations

(in thousands) of ten species (A –J) in four areas

(a–d) consisting of the number of habitats given

within brackets against each. Study the table and

answer the question which follows :-

A B C D E F G H I J

a (11) 2.3 1.2 0.52 6 - 3.1 1.1 9 - 10.3

b (11) 10.2 - 0.62 - 1.5 3 - 8.2 1.1 11.2

c (13) 11.3 0.9 0.48 2.4 1.4 4.2 0.8 8.4 2.2 4.1

d (12) 3.2 10.2 11.1 4.8 0.4 3.3 0.8 7.3 11.3 2.1

Area and 
Number                         

of habitats

Species and their populations (in thousands) in the areas

Which area out of a to d shows maximum species

diversity ?

(1) d (2) a (3) b (4) c

138. Which one of the following types of organisms
occupy more than one trophic level in a pond
ecosystem ?
(1) Frog (2) Phytoplankton

(3) Fish (4) Zooplankton

134.  
(1)  (2) 
(3)  (4)  

135. 
 
(1)  

(2)  
(3) 
(4) 

136. (A)-(D) 
   
(A) ......(1)..... 
....(2).... 

(B) 
 ....(3)..... 

(C)  
........(4)...... 

(D) 
............(5).......... 
(1) (5) 

(1) (1) - , (2) - 

(3) - , (5) - 
(2) (3) -  (4) -  (5) - 
(3) (1) - , (2) - 

(3) - , (4) 
(4) (3) - , (4) ,

(5) - 
137.  (a –d) 


(A –J) 

 

2.3     1.2    0.52   6.0       –      3.1    1.1      9.0      –     10.3

10.2     –     0.62     –      1.5     3.0      –       8.2     1.1   11.2

11.3    0.9    0.48   2.4     1.4     4.2    0.8     8.4     2.2    4.1

3.2    10.2   11.1    4.8     0.4    3.3     0.8     7.3    11.3   2.1

a(11)

b(11)

c(13)

d(12)






 




A        B      C       D       E       F         G      H       I         J

a d 

(1) d (2) a (3) b (4) c

138. 
 ?
(1)  (2) 
(3)  (4) 
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139. Which one of the following is most appropriately

defined ?

(1) Amensalism is a relationship in which one

species is benefited where as the other is

unaffected.

(2) Predator is an organism that catches and kills

other organism for food.

(3) Parasite is an organism which always lives inside

the body of other organism and may kill it.

(4) Host is an organism which provides food to

another organism.

140. Which of the following representations shows the

pyramid of numbers in a forest ecosystem :-

(A) (B) 

(C) (D) 

(1) A (2) B (3) C (4) D

141. Mass of living matter at a trophic level in an area

at any time is called :-

(1) Standing crop

(2) Detritus

(3) Humus

(4) Standing state

142. The second stage of hydrosere is occupied by

plants like :-

(1) Salix (2) Vallisneria

(3) Azolla (4) Typha

143. Which one of the following is common to

multicellular fungi, filamentous algae and

protonema of mosses :-

(1) Mode of Nutrition

(2) Multiplication by fragmentation

(3) Diplontic life cycle

(4) Members of kingdom Plantae

144. If you are asked to classify the various algae into

distinct groups, which of the following characters

you should choose ?

(1) Chemical composition of the cell wall

(2) Types of pigments present in the cell

(3) Nature of stored food materials in the cell

(4) Structural organization of thallus

139.  


(1) 


(2) 
 

(3) 

 

(4) 
 

140.   
  

(A) (B) 

(C) (D) 

(1) A (2) B (3) C (4) D

141. 
?
(1) 
(2) 
(3) 
(4) 

142. 
  
(1)  (2) 
(3)  (4) 

143. 


(1)  

(2) 

(3) 
(4) 

144. 
 

(1) 
(2) 
(3) 
(4) 
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145. 

  


(1)  


(2)  
(3)  
(4) 
 

146.   ?

(1)  (2) 
(3)  (4) 

147.  :-
(1)  (2) 
(3)  (4) 

148. (A-D) 

1–4, 

A, B, C D  


  A      B       C     D

(1)    
(2)    
(3)    
(4)    

149.  
 

(1) 

(2) 

(3) 

(4) 

145. In the light of recent classification of living

organisms into three domains of life (bacteria,

archaea and eukarya), which one of the following

statements is true about archaea ?

(1) Archaea completely differ from both

prokaryotes and eukaryotes

(2) Archaea completely differ from prokaryotes

(3) Archaea resemble eukarya in all respects

(4) Archaea have some novel features that are

absent in other prokaryotes and eukaryotes

146. Mannitol is the stored food in :-

(1) Gracillaria (2) Chara

(3) Porphyra (4) Fucus

147. Virus envelope is known as :-

(1) Core (2)  Capsid

(3) Virion (4)  Nucleoprotein

148. Examine the figures (A-D) given below and select

the right option out of 1–4, in which all the four

structures A, B, C and D are identified correctly:-

Structures :

  A         B   C     D
(1) Runner Archegoniophore Synergid Antheridium

(2) Offset Antheridiophore Antipodals Oogonium

(3) Sucker Seta Megaspore Gemma cup

mother cell

(4) Rhizome Sporangiophore Polar cell Globule

149. In the five-kingdom classification,

Chlamydomonas and Chlorella have been

included in :

(1) Plantae

(2) Monera

(3) Protista

(4) Algae
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150. Study the pedigree chart given below :-

What does it show ?

(1) Inheritance of a recessive sex-linked disease

like  haemophilia

(2) Inheritance of a sex-linked inborn error of

metabolism like phenylketonuria

(3) Inheritance of a condition like phenylketonuria

as an autosomal recessive trait

(4) The pedigree chart is wrong as this is not

possible

151. Which one of the following cannot be explained on

the basis of Mendel’s Law of Dominance ?

(1) Factors occur in pairs

(2) The discrete unit controlling a particular

character is called a factor

(3) Out of one pair of factors one is dominant, and

the other recessive

(4) Alleles do not-show any blending and both the

characters recover as such in F
2
 generation

152. A cross in which an organism showing a dominant

phenotype in crossed with the recessive parent in

order to know its genotype in called :-

(1) Back cross

(2) Test cross

(3) Dihybrid cross

(4) Monohybrid cross

153. Which one of the following conditions correctly

describes the manner of determining the sex in the

given example ?

(1) Homozygous sex chromosomes (ZZ)

determine female sex in Birds.

(2) XO type of sex chromosomes determine male

sex in grasshopper

(3) XO condition in humans as found in Turner

Syndrome, determines female sex.

(4) Homozygous sex chromosomes (XX) produce

male in Drosophila

150.   ?

 ?

(1) 



(2) 



(3)  



(4) 
151. 

   ?
(1)   

(2) 

 

(3) 



(4) 
F

2


152. 

 
(1) 

(2) 

(3) 

(4) 
153.  


?

(1) (ZZ) 

 
(2) XO 


(3) XO   

  

(4) (XX) 

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154. During transcription, RNA polymerase

holoenzyme binds to a gene promoter and assumes

a saddle - like structure. What is it's DNA-binding

sequence?

(1) TATA (2) TTAA

(3) AATT (4) CACC

155. What is antisense technology ?

(1) When a piece of RNA that is complementary

in  sequence is used to stop expression of a

specific gene

(2) RNA polymerase producing DNA

(3) A cell displaying a foreign antigen used for

synthesis of antigens

(4) Production of somaclonal variants in tissue

cultures

156. Removal of introns and joining the exons in a

defined order in a transcription unit is called :-

(1) Capping (2) Splicing

(3) Tailing (4) Transformation

157. Select the two correct statements out of the four

(a–d) given below about lac operon.

(a) Glucose or galactose may bind with the

repressor and inactivate it

(b) In the absence of lactose the repressor binds with

the operator region

(c) The z-gene codes for permease

(d) This was elucidated by Francois. Jacob and

Jacque Monod

The correct statements are :

(1) (a) and (b) (2) (b) and (c)

(3) (a) and (c) (4) (b) and (d)

158. Which stages of cell division do the following

figures A and B represent respectively ?

A B

(1) Prophase – Anaphase

(2) Metaphase – Telophase

(3) Telophase – Metaphase

(4) Late Anaphase – Prophase

154.  RNA 



DNA-

 

(1) TATA (2) TTAA

(3) AATT (4) CACC

155. 
(1) RNA 



   

(2) RNA DNA 

(3) 

 
(4)    

156. 
?
(1)  (2) 
(3)  (4) 

157. 
(a–d) 
(a) 
 

(b) 


(c) z- 
(d) 

 
 :
(1) (a)  (b) (2) (b)  (c)
(3) (a)  (c) (4) (b)  (d)

158. A  B 

   ?

B

(1)  – 
(2)  – 
(3)  – 
(4)  – 

Time Management is Life Management
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159. 
(1) 
 

(2) 
 

(3) 



(4) DNA 
160. 

  



(1) 


(2) 
(3) 
(4) 


161. A, B,C  D 
(i) (viii) 


 :
(i)  
(ii)   
(iii)
(iv)  
(v)  
(vi)
(vii)  
(viii) 
      

A B C D

(1) (i) (iv) (viii) (vi)

(2) (vi) (v) (iv) (vii)

(3) (v) (i) (iii) (ii)

(4) (v) (iv) (viii) (iii)

159. Select the wrong statement from the following :

(1) The chloroplasts are generally much larger
than mitochondria

(2) Both chloroplasts and mitochondria contain
an inner and an outer membrane

(3) Both chloroplasts and mitochondria have an
internal compartment, the thylakoid space

bounded by the thylakoid membrane
(4) Both chloroplasts and mitochondria contain

DNA

160. Keeping in view the "fluid mosaic model" for the

structure of cell membrane, which one of the

following statements is correct with respect to the

movement of lipids and proteins from one lipid

monolayer to the other (described as flipflop

movement) ?

(1) While proteins can flip-flop, lipids can not

(2) Neither lipids, nor proteins can flip-flop

(3) Both lipids and proteins can flip-flop

(4) While lipids can rarely flip–flop,proteins can not

161. Identify the components labelled A, B,C  and D

in the diagram below from the list (i) to (viii) given

with

Components :

(i) Cristae of mitochondria

(ii) Inner membrane of mitochondria

(iii) Cytoplasm
(iv)  Smooth endoplasmic reticulum

(v)  Rough endoplasmic reticulum
(vi)  Mitochondrial matrix

(vii) Cell vacuole
(viii) Nucleus

The correct component are :

A B C D

(1) (i) (iv) (viii) (vi)

(2) (vi) (v) (iv) (vii)
(3) (v) (i) (iii) (ii)

(4) (v) (iv) (viii) (iii)
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162.   

(1) 

(2) 

(3) 

(4) 

163. 

(1) 
(2)  
(3) 
(4) 

164.  ?

(1)  (2) 
(3)  (4) 

165.    :
(1)  

(2) 



(3)  

(4) 

166.  
 
(1) 
(2)  
(3) 
(4) 


167. 

 
(1)  (2) 
(3)  (4) 

168. 


(1)  (2) 
(3)  (4) 

169. 
?
(1)  –  

(2)  –  

(3)  –  

(4)   –  

162. Male gametes in angiosperms are formed by the

division of :-

(1) Microspore mother cell

(2) Microspore

(3) Generative cell

(4) Vegetative cell

163. Which one of the following pairs of plant

structures has haploid number of chromosomes ?

(1) Nucellus and antipodal cells

(2) Egg nucleus and secondary nucleus

(3) Megaspore mother cell and antipodal cells

(4) Egg cell and antipodal cells

164. Vegetative propagation in mint occurs by :-

(1) Sucker (2) Runner

(3) Offset (4) Rhizome

165. Wind pollinated flowers are :

(1) small, producing nectar and dry pollen

(2) small, brightly coloured, producing large number

    of pollen grains

(3) small, producing large number of dry pollen

grains

(4) large producing abundant nectar and pollen

166. Stirred-tank bioreactors .have been designed for:

(1) Availability of oxygen throughout the process

(2) Addition of preservatives to the product

(3) Purification of the product

(4) Ensuring anaerobic conditions in the culture

vessel

167. Which one of the following is being tried in India

as a biofuel substitute for fossil fuels ?

(1) Musa (2) Aegilops

(3) Jatropha (4) Azadirachta

168. A genetically engineered micro-organism used

successfully in bioremediation of oil spills is a species

of

(1) Bacillus (2) Pseudomonas

(3) Trichoderma (4) Xanthomonas

169. Which one of the following pairs is wrongly

matched?

(1) Textile – amylase

(2) Detergents – lipase

(3) Alcohol – nitrogenase

(4) Fruit juice – pectinase
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170. Consider the following four measures (a–d) that

could be taken to successfully grow chickpea in

an area where bacterial blight disease is common:-

(a) Spray with Bordeaux mixture

(b) Control of the insect vector of the disease

pathogen

(c) Use of only disease–free seeds

(d) Use of varieties-resistant to the disease

Which two of the above measures can control the

disease ?

(1) c and d (2) a and d (3) b and c (4) a and b

171. Which one of the following is commonly used in

transfer of foreign DNA into crop plants ?
(1) Penicillium expansum

(2) Trichoderma harzianum
(3) Meloidogyme incognita

(4) Agrobacterium tumefaciens
172. The annular and spirally thickened conducting

elements generally develop in the protoxylem
when the root or stem is :-

(1) Differentiating (2) Maturing
(3) Elongating (4) Widening

173. Ground tissue includes :-
(1) All tissues external to endodermis

(2) All tissues except epidermis and vascular
bundles

(3) Epidermis and cortex
(4) All tissues internal to endodermis

174. An example of axile placentation is :-
(1) Marigold (2) Argemone

(3) Dianthus (4) Lemon

175. Consider the following four statements A, B, C

and D and select the right option for two correct
statements :

Statements :
(A) In vexillary aestivation, the large posterior

petal  is called - standard, two lateral ones are
wings and two small anterior petals are termed

keel.
(B) The floral formula for Liliaceae is

 P A G3+3 3+3 ( )3

(C)  In  pea f lower  the stamens are
monadelphous

(D) The floral formula for Solanaceae is

 K C A(3) (3) (4)G( )2

The correct statements are :-

(1) (A) and (B) (2) (B) and (C)

(3) (C) and (D) (4) (A) and (C)

170. (a – d) 


  
(a)   
(b)  
(c) 
(d)   




(1) c  d (2) a  d (3) b  c (4) a  b
171. 

?
(1)
(2) 
(3)  
(4) 

172.       

 :-
(1)   (2) 
(3)   (4)  

173.  
(1) 
(2) 

(3) 

(4) 
174.  

 ?
(1)  (2) 
(3)  (4) 

175.  (A, B, C D)  

 

(A) 


 

(B) 

 P A G3+3 3+3 ( )3
 

(C) 

(D)    K C A(3) (3) (4)G( )2
 

 

(1) (A)  (B) (2) (B) (C)

(3) (C)  (D) (4) (A)  (C)
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176. A process that makes important difference

between C3 and C4 plants is :-

(1) Photosynthesis

(2) Photorespiration

(3) Transpiration

(4) Glycolysis

177. Which one of the following is essential for

photolysis of water ?

(1) Boron (2) Manganese

(3) Zinc (4) Copper

178. The curve given below shows enzymatic activity

with relation to three conditions (pH, temperature

and substrate concentration)

y-
ax

is

x-axis

What do the two axises (x and y) represent ?

x-axis y-axis

(1) Enzymatic activity pH

(2) Temperature Enzyme activity

(3) Substrate concentration Enzymatic activity

(4) Enzymatic activity, Temperature

179. Study the cycle shown below and select the option

which gives correct words for all the four blanks

A, B, C and D. :

A B C D

(1) Denitrification Ammonification Plants Animals

(2) Nitrification Dentrification Animals Plants

(3) Denitrification Nitrification Plants Animals

(4) Nitrification Ammonification Animals Plants

176. C3 C4 
 
(1) 
(2) 
(3) 
(4) 

177. 

(1)  (2) 

(3)  (4) 

178.   (pH, 

x y) 

y-
ax

is

x-axis

x- y-

(1)  pH

(2)  

(3)  

(4)  

179. 
A, B, C D  
   

N2




N2 


N2 


N2 

 'N' 





A      B C D

(1)    

(2)    

(3)    

(4)    
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180. Read the following four statements A, B, C and

D and select the right option having both correct

statements :

STATEMENTS :

(A) Z scheme of light reaction takes place in

presence of PSI only

(B) Only PSI is functional in cyclic photopho-

sphorylation

(C) Cyclic photophosphorylation results into

synthesis of ATP and NADPH2

(D) Stroma lamellae lack PSII as well as NADP.

(1) A and B (2) B and C

(3) C and D (4) B and D

180. A, B, C D 


 
(A) Z PSI 
 

(B) PSI 



(C) ATP 

NADPH2  

(D) PSII NADP 

(1) A  B (2) B  C

(3) C  D (4) B  D

Your moral duty

is to prove that  is 



01–05–2013

H 39 / 39Your Target is to secure Good Rank in Pre-Medical 2013

MAJOR TEST

PRE-MEDICAL : ENTHUSIAST,  LEADER & ACHIEVER COURSE

SPACE FOR ROUGH WORK /     


